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Note : Answer all questions. All questions carry equal 

gOIE-I / Unit-I 

125 

Q. 1. (a) d, d, dô, d7 fa-H AI 3Csy HoT 

4 

Give the distribution of electron in octahedral 

in weak and strong field ligand. 

complexes having configuration d, d5, d, d? 

P.T.0. 



(b) eT 

(2) 

What is Irving-William order of stability of 

complexes ? 

NJ-1361 

(c) (Co(H,o)* vd (Co(H,0)13+ t 

fee forer-fbcg ferorUT 3f 

(CFSE) H4 31T6 I 

Among [Co(H,0)*and [Co(H,0)e* which 
will have high value of CFSE. 

1 

34 OR 

(a) d², d, d, dô fa-ur TÝ �gubcrA vå 

4 

Give the value of CFSE for octahedral and 

tetrahedral complexes having configuration 

d°, d", d, dô in strong and weak field ligand. 

(3) 
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3 

What is overall and stepwise formation 

constant ? Give the relation between them. 

zOTE-II/ Unit-II 

Q. 2. (a) aos 3AIgof I ? Cr3+ gá Fe3t e bdct 

3 

What is magnetic momentum ? Calculate 

the magnetic momentum for Cr3 and Fe3t 

by spin only formula. 

Write the ground state term for d³ and d9 

system. 

spectra are observed. Why ? 

2 

d-d transition in octahedral complexes are 

Laporte forbidden, still moderately strong 

P.T.0. 
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(4) 

FUAT OR 

Discuss the electronic spectra of [Ti(H,0)J. 

What is Curie-Weiss law ? 

3 

What is ferromagnetism ? Give example. 

2 

if the magnetic momentum of tetraco 

Fo¢ IMIUnit-III 

1 

ordinated Nø* complex is OBM then predict 

the geometry of the complex. 
1 

3 

Give mechanism of homogeneous hydro 

genation catalysis. 

(b) frrt TaU ? 

What is Zeise's salt ? Give its structure. 

(C) [Ni(CO),] iH quf sUI 

Explain the structure of [Ni(CO)J 

(a) �R ffrgy: 

(0 

(5) 

RYaT OR 

(i) ff 
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Write on the following : 

() T-Acceptor ligand 

(i) Hapticity 

(üi) Zeigler-Natta catalyst 

Calculate EAN for Ni in [Ni(CO)J. 

Q. 4. H R ffe: 

(i) Na-K qey 

(b) Ni(CO)] À Ni ’ fe EAN s TUI bsI 1 

_OI-IVI Unit-IV 

() AcdTEgRT 

(üi) s fàybai 

2 

2 

2+2+2=6 

2+2+2=6 

P.T.O. 



Write on the following : 

(i) Na-K pump 

() Metalloporphyrins 

(üi) Lead-toxicity 

(a) 

(b) HNCd 

(b) 

(6) 

Toxic metals and their effect. 
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Q. 5. (a) isBROIH UHI I quf fae 

34GT OR 

Structure of Haemoglobin. 

_o VIUnit-V 

RTHI 

Explain the structure of triphasphazenes. 

(0) 

afufa quf fo: 

() NH,CI + PCI, 

(i) LiI + CsF ’? 

Complete the reaction : 

(c) frHGTferT 

NH,CI + PCI, 

Symbiosis 

(i) LiI + CsF ’? 

4 

2 

2 

1+1=2 

2 

(7) 

NJ-1361 

3YaT OR 

What is HSAB principle ? 

AgL, is more stable than AgF. Why ? 

Choose the correct option : 

(a) usTT : 

(i) fferèbC 

(iv) qrefivorRbE 

Amphibole is : 

() Organic polymer 

(ii) Strong ligand 

(ii) Silicate 

(iv) Polyphosphate 

(b) ISDRDT N vd P AA HORT MAe 

alà : 
1 

1 

1 

PT.0. 



(i) 
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N - sp, P - sp? 

(ü) N- sp?, P - sp3 

(8) 

(üi) N - sp, P - sp3 

(iv) N-Sp?, P - Sp? 

State of hybridization of N& P in 

triphosphazene are 

(i) N- sp°, P - sp2 

(ii) N- sp², P - sp 
(ii) N- sp, P - sp3 

(C) T4 TqUT: 

(iv) N- sp², P - sp² 

(0) (NaP03)6 
(ii) Na,PO4 

(üi) Na,HP,0, 
(iv) Na,HPO4 
Grahm salt is : 

(0) (NaP03)6 
(i) Na,P0, 

(ii) Na,HP,0, 
(iv) Na,HPO, 

1 

9,800 
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